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5

. The reciprocal of - is

4

(i) 2-4 (i) (1-1) (iii) (iv) 1-4 (v) ()
2 (i) (1) (i v) 1o () (¢

8
. The like fraction of-9 is

(i) > (if) = (iii) > (iv) > (v) -
8 10 9 11 12

4
. The equivalent fraction of-9 is

AR & R NN I
Vooe Mooz M e W57 Vo
2 )
of210is

(i) 99 (ii) 74 (iii) 69 (iv) 94 (v) 84

5 .
— of is195
8 ——

(i) 297 (ii) 312 (iii) 302 (iv) 322 (v) 327

15
Convert 13 to mixed fraction

(i) 1 (i) 1-4 (iii) 1'4 (iv) 1-2
i i) 1o GiD) 1o (v) 12

2
Convert5-3 to improper fraction

(i) 27 (i) 5 (iii) = (iv) Y (v) 7
o L\

Identify the properfraction

(i) 10'4 (if) 4'3 (iii) e (iv) 2 (v) o
i 13 ) 4y (i) o (v) o () o

Identify theimproperfraction
11

(i) — (i) = (iii) 14-6 (iv) 2 (v) 17-5
16 18 11 8 9
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Identify the mixedfraction

i) 5=
10

(i)

1
The unlike fraction of -2

(i)

(if)

(i)

(i)

(iii)

(iii)

(iii)

(

(

16

(iv)

iv) 1

is

iv)

18

. . 189
The simplest form of the fraction -

(v)

is
5

2

9
19

(v)

Which of the following pairs are like fractions?

(i)

7
16

16
21

(ii) 50"

15
20

(iii)

2

(iv

11

17 9

)

18 '11

Which of the following pairs are unlike fractions?

(i)

14
16

6
"16

21

(i 8'8

(iii) 5

Find the equivalent fraction of -

13
Find the equivalent fraction of

14
Find the equivalent fraction of 11 with numerator126

(i)

Find the equivalent fraction of

(i)

126

99

78
33

(i)

(i)

(iii)

126

(ii

(iii)

i)

360

Reduce the fraction

1560

(iv)

126
66

(iv)

’

19

65
20

(iv)

65
33

(iv)

(V)

(v)

16
7'7

91
20

39
33

(v)

4
5 with numerator28

with denominator20

13 |
1 with numerator39

9 19

V) 19723

6 11
19 '19



20. Which of the following is a unit fraction?

R
(i) ™ (ii) 13 (v) 35

21. Which of the following is a decimal fraction?

(i) 184 (ii) (iii) ! (iv) > (V) 1511
i S i) 5 (v v

15 10 12

22. Which of the following is a decimal fraction?

(i) 810 (ii) (iii) > (iv) ° (v) 413
) 8 o (i i) o (V) oy W) 4

23. Which of the following is a decimal fraction?

(i) > (i) - (iii) 10'11 (iv) Y (v) 10'2
o ) 50 (i 3 W g W s

24. Which of the following is a decimal fraction?

() 202 (i) 9 (i) = (V) —o () o
| 1 11 I\ \%
19 6 10000 7
25. Which of the following is a complex fraction?
6
(i) (8) (i) (iii) ! (iv) 203 (v) 74
i ii iii iv %
19 18 7
3

The ascending order of
26. 4 6 1 1 3 2

IIIIIIS
6 8 2 2 45

’

1 6 2 (i)
, =, iii
2 85

The descending order of
27.1 112 4 1.
’ r ’ ’ IS
324592
. 4121 112114
(I) ’ ’ o (”) Nt A ’ ’ (”I)
229 354 2 253409

’

’ ’

114211
Vv S, -
2 52

28. Which of the following is true?

(i) 2 >-6 (i) 2 <-1 (iii) -19<-6 (iv) >
10 19 19 5

29. Which of the following is true?
28 29 37 39 29

B 17 . 28 40
> - (i) — > (iii) < ( -
19 15 11 2 3

(i)

(iif) 17> (iv) E 4
14

’

’

’



30. Which of the following is true?

. 9 11
(i) 28— >37
22 12

B 3 7
(ii) 29 >34-
14 32

(iii)

7
19-
27
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